Inorganic Chemistry 1
QUANTUM THEORY
QUANTUM NUMBERS

Problem-Solved Example 32

a) Can ar efectron has antunm numbers of
N=2, =2 and m"-_- 2, €xﬂ/q}n i

&) Givern 6 setr of Z‘-an/qm numébers, which ome rs affpved 7

Why not 2
() n=2 U=/ m, = © '?r=*'2€
) n=2a A=3 m=02 om -4
Vi) h=2 A=o0 M=~/ me = +%
Gy h=3 L=/ my=-/ M=-%
), n=3 A=3 my=0 m=+%
i)y ne4 A=2 m=3 Mma-L

Solution

e —
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Problem-Solved Example 32 : Solution

a) n=2 L=0 (2s) + m =0 my can Aave Valie
A =171 CJf) :m, ==/, 0, +/} :o,-/,an/-f/ mj.
A #2 (2 does ot exict)
my# 2

5)1‘)/)::2 A=) My =0 My =712 (/:(' a//mc{)

4
2
b iy N=2 L#3 m#2 M= 2 (not allaved )
A=0, L=/ (a»& 2 wgluesof L a//aued): L=3 /s not al
My==-(,0 +/ (dbﬁ 3 Values a/'nk a//Md): m,=8 i net a

bGiy nea L=0 mF~I m=+3
A=o0 :m =0 a;,j (m=-1 aot a//dwea()

25 avbital camnct oy my==l (only ome ovientatpm )
bv) n=3 U=t m=~1 my=-% (alaed: 3p abif
wv) n=3 AF3 My=0 Mm=r%

For N=3, allaved L =0, L=/ and L=2 d:’f(la’» is not
viy n=4 AL=2 m#3 m=-%
For h=4; L=2 . alloved M, = +2, +1,0, =l ,ard =2 orly
4d (m =3 is not a//mea()
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